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Lecture

Binary Trees ADT

Definition, Terminology, Properties



Binary Trees: Recursive Definition
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BT Terminology: LST vs. RST

Strategy of Recursion on BT:
+ Do something on root
+ Recur on LST
+ Recur on RST

e.g., 
+ counting size
+ searching item
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Deriving the Sum of a Geometric Sequence

Initial Term: I
Common Factor: r
Number of Terms: k
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BT Terminology: Depths, Levels, Max # of Nodes 

Max # of nodes in a BTwith height
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Complete BT vs. BT
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BT Terminology: Complete vs. Full BTs
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BT Properties: Bounding # of Nodes

For example, say h = 3

Minimum # of nodes Maximum # of nodes
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BT Properties: Bounding Height of Tree

For example, say n = 7

Minimum height Maximum height
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For example, say h = 3

BT Properties: Bounding # of External Nodes

Minimum # of 
External Nodes

Maximum # of 
External Nodes
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For example, say h = 3

BT Properties: Bounding # of Internal Nodes

Minimum # of 
Internal Nodes

Maximum # of 
Internal Nodes
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